Al = 0l & AFE B Al A

2A: BEESH
M QAHsZEH (/22520
e OllESAlE ES CEEEED
2A - HH - H(SH) - MRAIY - BES Ol AkH J &3 o Hws2
sHEES 40,770,426 38,234,426 2,536,000
= 7,593,695 6,147,195 1,446,500
s 709,000 709,000 0
J| 156,938 156,938 0
== 3,851,725 4,037,725 186,000
Al 28,009,068 26,733,568 1,275,500
= 450,000 450,000 0
AASABH (2 /sdE 528! 4,718,912 4,736,312 17,400
= 115,000 115,000 0
J| 6,000 6,000 0
== 1,969,390 1,969,390 0
Al 2,178,522 2,195,922 17,400
= 450,000 450,000 0
OHSAE 25 871,870 889,270 17,400
= 115,000 115,000 0
(o= 67,590 67,590 0
Al 239,280 256,680 A17,400
= 450,000 450,000 0
Orlisalg 22 81,570 98,970 A17,400
402 DIZHXHE01A 45,600 63,000 A17,400
01 QIZEXH= A B2 (XERITHE) 45,600 63,000 A17,400
ORdlotMsS TIoHuYAIE X XA (XS 60%)
(BIBHTOH AL2E)
Z2& 45,600,000& 45,600 63,000 17,400
tel(&Hd/thol) 11,296,410 12,136,410 840,000
= 5,251,195 5,663,195 A412,000
s 709,000 709,000 0
J| 150,938 150,938 0
== 1,687,008 1,873,008 186,000
Al 3,498,269 3,740,269 A242,000
11,263,866 12,103,866 £A840,000
= 5,251,195 5,663,195 412,000
s 709,000 709,000 0
J| 150,938 150,938 0
== 1,687,008 1,873,008 186,000
Al 3,465,725 3,707,725 A242,000
(B)5SSEEIRXEINHIXIKIJA 1,289,590 1,024,000 265,590
= 644,795 512,000 132,795
(o= 193,438 153,600 39,838
Al 451,357 358,400 92,957
1,289,590 1,024,000 265,590
= 644,795 512,000 132,795
(o= 193,438 153,600 39,838
451,357 358,400 92,957
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SA - BB ORI(E]) - HRAY - B Ofl kot J| & o Hnz2
14 JIEtE&Z 1,289,590 1,024,000 265,590
Ohs8FERIEI|HXKIJ A
A& 1,289,590,000 1,289,590 1,024,000 265,590
= 644,795 512,000 132,795
== 193,438 153,600 39,838
Al 451,357 358,400 92,957
(2V4ES=FESARINH XA 847,300 810,300 37,000
= 423,650 405,150 18,500
== 127,095 121,545 5,550
Al 296,555 283,605 12,950
301 EtEdEZ 847,300 810,300 37,000
= 423,650 405,150 18,500
< 127,095 121,545 5,550
Al 296,555 283,605 12,950
14 J|Et243 847,300 810,300 37,000
O4S2=FESAEIHIXAIZ AL
ZA 3,700,0002*229CH 847,300 810,300 37,000
= 423,650 405,150 18,500
< 127,095 121,545 5,550
Al 296,555 283,605 12,950
(=) =2 HEINHZI|HIXKI 2 A 4,600 11,190 26,590
= 2,300 5,595 A3,295
< 690 1,678 2988
Al 1,610 3,917 A2,307
301 LEt2d= 4,600 11,190 26,590
= 2,300 5,595 23,295
< 690 1,678 2988
Al 1,610 3,917 A2,307
14 J|Et243 4,600 11,190 26,590
OLFHEIAHZIIHIXKI 2 AFS
23 4,600,000 4,600 11,190 26,590
= 2,300 5,595 23,295
== 690 1,678 A988
Al 1,610 3,917 A2,307
(=) M2 EXI(0PF) 2= 280,500 214,500 66,000
= 140,250 107,250 33,000
== 42,075 32,175 9,900
Al 98,175 75,075 23,100
402 RIZHXHE01H 280,500 214,500 66,000
= 140,250 107,250 33,000
== 42,075 32,175 9,900
Al 98,175 75,075 23,100
02 CIZEXI=2 AL B (0| M THS) 280,500 214,500 66,000
OXM2&XI(OPF) 22 23 280,500,0002 280,500 214,500 66,000
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SA - B G(3) - HRAY - BES Ofl Aot )l 3o HimE2
= 140,250 107,250 33,000
< 42,075 32,175 9,900
Al 98,175 75,075 23,100
(=) 20| SE R PRI EHKI R ALY 98,000 84,000 14,000
= 49,000 42,000 7,000
< 14,700 12,600 2,100
Al 34,300 29,400 4,900
402 QIZERHE0| A 98,000 84,000 14,000
= 49,000 42,000 7,000
= 14,700 12,600 2,100
Al 34,300 29,400 4,900
02 QIZENEAMLE X (0IX ) 98,000 84,000 14,000
OO0gl0] S&xtet LPGXH &2 X1
A 7,000,000 14CH 938,000 84,000 14,000
= 49,000 42,000 7,000
= 14,700 12,600 2,100
Al 34,300 29,400 4,900
(2)INEEN=ABLAES A 12,000 62,000 250,000
= 7,200 37,200 /30,000
== 1,440 7,440 26,000
Al 3,360 17,360 14,000
402 CIZHRHE0|N 12,000 62,000 A50,000
= 7,200 37,200 /30,000
== 1,440 7,440 26,000
Al 3,360 17,360 14,000
02 CIZEXI=2 AL B (0| M THS) 12,000 62,000 A50,000
OJdg MsA22 uHd X
43 12,000,000& 12,000 62,000 A50,000
= 7,200 37,200 /30,000
== 1,440 7,440 26,000
Al 3,360 17,360 214,000
(2)HINXSKE TR 5,830,000 6,956,000 1,126,000
= 3,490,000 4,040,000 550,000
== 936,000 1,166,400 230,400
Al 1,404,000 1,749,600 345,600
402 CIZERHE0|A 5,830,000 6,956,000 1,126,000
= 3,490,000 4,040,000 550,000
< 936,000 1,166,400 230,400
Al 1,404,000 1,749,600 345,600
02 CIZFXHEAIH 2 (0| X THEA) 5,830,000 6,956,000 1,126,000
O&EI|SKE 200 X1
23 5,830,000,000 5,830,000 6,956,000 21,126,000
= 3,490,000 4,040,000 550,000
< 936,000 1,166,400 230,400
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| Al 1,404,000 1,749,600 345,600

(2)EIN0IEX ESAL 40,000 80,000 240,000

= 20,000 40,000 /20,000

== 6,000 12,000 26,000

Al 14,000 28,000 A14,000

402 CIZHRHE0|A 40,000 80,000 A40,000

= 20,000 40,000 220,000

== 6,000 12,000 26,000

Al 14,000 28,000 14,000

02 CIZEXI=2 AL B (0| M THS) 40,000 80,000 A40,000
O®EI|0IEXE 200 XI&

43 40,000,000 40,000 80,000 240,000

= 20,000 40,000 /20,000

== 6,000 12,000 26,000

Al 14,000 28,000 214,000

HOIS2ZH(&E/HDI2) 16,784,517 14,926,017 1,858,500

= 1,957,500 99,000 1,858,500

< 111,327 111,327 0

Al 14,715,690 14,715,690 0

M0l Hel 16,537,342 14,678,842 1,858,500

= 1,957,500 99,000 1,858,500

== 111,327 111,327 0

Al 14,468,515 14,468,515 0

()M HOI2Hel Has+ 1,858,500 0 1,858,500

= 1,858,500 0 1,858,500

307 212to1™ 1,858,500 0 1,858,500

= 1,858,500 0 1,858,500

05 BIZIRIEZ 1,858,500 0 1,858,500
OMH(==al) TS Hel

1,858,500, 0002 %1 A! 1,858,500 0 1,858,500

= 1,858,500 0 1,858,500

Q- H= 2el(E/AdteE - 2E) 998,542 1,001,605 23,063

= 270,000 270,000 0

< 84,000 84,000 0

Al 644,542 647,605 A3,063

=&z 998,542 1,001,605 23,063

= 270,000 270,000 0

< 84,000 84,000 0

Al 644,542 647,605 A3,063

=HYSHH 2 170,243 173,306 23,063

101 @I244| 30,339 33,402 23,063

04 J1ZtHI22ASE+ 30,339 33,402 23,063

OOt ZHAIR! A (ZIEHEIH AL2E) 30,339 33,402 23,063




2N 323
. @ - H 2A2|(BHE/MotE - +E)
SR 22 (cHol: M)
SA B SR(E) - HRAY - A2 Ofl kot Il H o HRE2
| | | —-Jlez 2R 24,643,000 24,643 27,706 A3,063
MHRES(SHEES0) (8E/AdteE - 2=7) 4,622,534 3,084,571 1,537,963
L=PSPNES 1,557,566 19,603 1,537,963
L=PSPNES 1,557,566 19,603 1,537,963
802 Btet=2D|EL 1,557,566 19,603 1,537,963
01 2NEBX=8tE= 1,117,131 353 1,116,778
Q2022 &= 552,422 272 552,150
—MEH RSt S EIXIAFS
899,305 x 14! 900 0 900
—MENH Wt S EIXIAFE (OIKH)
4,32024 14l 5 0 5
— OSSN0 BEAF
893,820 * 14 894 0 804
— O SSIIoH0IAFA (OIXF)
40,5304 14l 41 0 41
—ASF TS STXl AIZF L AKX 2
5,558, 95021%14] 5,559 0 5,559
—ASF CHES SCHXl AI2THE 2 HIAFKIX2I(0IXt)
41,6802 %14 2 0 42
—MHEZ=SUIOIEAFI(OIXH
24,6003 x14] 25 0 25
—3=85HE &E(01XH
150,020 * 14 151 0 151
—=SZHHILSHBAS2(01XH)
277 ,2803Ax14] 278 0 278
—2IAEIEAIN SE A XI&(0IX)
77,4803 %14 78 0 78
—&dI0IEX IR AL
59,960, 180 * 1Al 59,961 0 59,91
—=HO0IEX I KR A (OIXF)
7,383,240 3% 14 7,384 0 7,384
—IEEaN=ASURESAIY
6,720,000 %1 Al 6,720 0 6,720
—IIHENSAZUIESAI(0IX})
63,6403A*14] 64 0 64
—EAIIQIEN JIIIF QIMIEIE X3
3,007,330 * 14! 3,008 0 3,008
—EHATOIER DI QIMIEIE XIZ(0IAH)
63,3003 *14] 64 0 64
—KISXt EEATQIEN 29
4,580,000 14 4,580 0 4,580
— XS EFEAZOIEN 2 (01X})
51,6403*14] 52 0 52
—0{el0| SR LPGXE MEHK|IRAAS
14,000,000 % 14! 14,000 0 14,000
—O{2I0|=sXt2F LPGXE MEHKI KA (OIXH
40,9602 %14 41 0 41
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SA - BB C9(B) - HRAY - BL=2 Ofl kot ol &3 o HRE2
—&IIXER BES2AE
446,793,000 1Al 446,793 0 446,793
—&IIK=EX ESAFE (01X
1,509,540 %1 Al 1,510 0 1,510
Q2021 &= 106, 136 81 106,055
—3S&olE &&(0IAH 71021x 1Al 1 0 1
SZEHHIEHEAZ
12,216,360 x 14! 12,217 0 12,217
—=SZHHILSHEBAS2(01XH)
28,560 3A*14] 29 0 29
—O{8l0| SR LPGRIN &K &AM
3,500,000&* 14! 3,500 0 3,500
—O{2I0|=8Xt2F LPGAHEEHKIAFE (01X
13,750 2% 14! 14 0 14
—IlEEN=sABURESAIY
840,000 * 14! 840 0 840
—IIEZENsAE A ES A (01X
54,5503 *14] 55 0 55
—&IIXER BES2AIE
88,510,000 %14l 83,510 0 83,510
—&IIXSA ESAFE (01X
888,200 * 14 889 889
02020 &= 143,352 143,352
—&IIXER BES2AIE
47,070,000 * 14 47,070 0 47,070
—&IIK=EX ESAFZ (01X
333,630 14! 334 0 334
—HHIBHE{ 2| 3422l ALY
650,000 * 14! 650 0 650
—HIbHE2] 322l AFZ (01X
3,7102%14! 4 0 4
— A2 AIAIEE SXIAIE XA
94,496,360 3*14] 94,497 0 04,497
—AR2IMAILE UXIAIA XI&(0IK})
796,920 14l 797 797
020199 &= 282,457 282,457
—&IIXER BES2AE
8,560,000 x 14! 8,560 0 8,560
—&IIXSA ESAFE (01X
55,8003 *14] 56 0 56
—AH&D|H AX WK
97,090,200 %14l 97,091 0 97,091
—2A4D1H AME DI (OIXH)
422 8103 x14] 423 423
— X2 (OPF) 22 46,089, 50024+14] 46,040 46,040
— X2 & XI(DPF) 22HOIXH
205,400 * 1Al 206 0 206
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SA BB SR(E) - HRAY - BES Ofl Aot )l 3o HimE2
— 28 HIstet=otIe A X
129,500,000 %1 A! 129,500 0 129,500
— s HIstctEIHIeE 2 XI(0IAH
553,330&A*14A] 554 0 554
—AR2IMAILE UXIAIA XI&(0IK})
26,0803*14] 27 27
o2018E = 32,764 32,764
—&IIX SR BES2AE
32,560,000 %14l 32,560 0 32,560
—&IIXSA ESAFZ (01X
203,220 % 14| 204 0 204
02 Al - SHIBEXZEEZ2 440,235 19,050 421,185
O20229 = 313,108 12,106 301,002
—MESCLEESMAI 55,7502 % 1Al 56 0 56
—MICIAE B E AL (OIXH
9,280+ 14! 10 0 10
—MENH et Z EIXIAFS
269,791&x14] 270 0 270
— MENH et S EIXIAFS (Ol X
1,230 %14 2 0 2
— O SSTI|oH 0l 2E AL
268, 1503 *14] 269 0 269
— O SSTIoH 0L AL (01 XF)
12,1503 *14] 13 0 13
—ASF UiE STXl AIZF L AKX 2
1,667,68521x 14! 1,668 0 1,668
—ASF THES Xl AI2IHE & HIAFKIK 2I(OIXH
5,4702%14] 6 0 6
—Zd0IEM K EAY
17,987,980 x 1Al 17,988 0 17,988
—=dIOIEXCIXIRA (OIXE)
2,214,950 %1 Al 2,215 0 2,215
—HIOIO|ATHIHEI 2 X2 AFS
23,2802 %14l 24 0 24
—HEZSUHIOIE AL (OIRH
7,400 %14 8 0 8
—HOIO|ATHHE S XA AIZ (OIXH)
7,370 14l 8 0 8
—egExd2aza XA
3,329,850&% 14! 3,330 0 3,330
—MHE2ELEBAZ2 XA (01XH)
3,600 %14 4 0 4
—2=85HE &E(01XH
2,1002%14! 3 0 3
—SZEHHILSEHEBAZ(0IX)
10,8902 %14 11 0 11
—HsAEI) RIAISANEDI | XA (01X}
QUR*14] 1 0 1
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2AM -3 . S2(3H) - MRAEY - BES 0 roH J| & o Hns2t
—J2IAEIEAN SSAIY XIR(0IXH)
23,2402 %14 24 0 24
—IIEHENSABUX B SAIY
1,344,000 14! 1,344 0 1,344
—IIHEENSABU XS SAFS (0l
12,7202I%1 Al 13 0 13
—EIATIOIEN IR CIMEIE XIZ
902,200 * 14l 903 0 03
—EHATZIOIEN DR QIMIEIE XIZ(0IX})
18,9902 %1 Al 19 0 19
—XNSX BAZOIER 29
1,374,000 % 14! 1,374 0 1,374
—XESXt BFAZOIEN 29 (0IXH)
15,4904 %14 16 0 16
—O{2I0|E&HXt2E LPGXH MEHKIRIALY
4,200,000 %14 4,200 0 4,200
—O{2l0| S8t X2t LPGXH MEHKIRIAL (01X
12,2802%1 Al 13 0 13
—MIIK=R B2A
266,918,500 %1 A! 266,919 0 266,919
—MI|IKEX BESAF(0IXH)
290, 500214l 291 0 291
oo s 17,128 6,944 10, 184
—2ETGHE EE(0IXH) 49021514l 1 0 1
—SZEHHIL2HEAZ(0IXH)
6,040 %14 7 0 7
—O{2I0| E& XI2HPGRIH B K| R AHY
1,050,000 14l 1,050 0 1,050
— {210/ S8 XH2HLPGXHE K| 2IAFS (O] XF)
4,1202%1 Al 5 0 5
—IIEEH=ABRUSIAIY
168,000 %14l 168 0 168
—IIEEN=SABAASZAI(0IXH)
10,9102I%1 Al 11 0 11
—ANDAHAISEE XA L 2 XK (O] XF)
7,670R%1Al 8 0 8
—MIIK=R B2Ak
8,770,000 14l 8,770 0 8,770
—HIINER B2 A(0IRH)
163,4102%14] 164 164
OR00E S 37,848 37,848
—MIIK=R B2Ak
14,400, 00024 % 14! 14,400 0 14,400
—MIIKEX BESAF(0IXH)
105,560 %14l 106 0 106
—HIHHE 2] 3l3=22| ALY
195,000 %14l 195 0 195
—HIHHEI 2] 3|22 AFS (01K
1, 1102414 2 0 2
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o
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SN - B 9I(3H) - NRAIR - BaS O st ol & o SimE==t
—IARSNANSY SNAE A
22,951,690 24141 22,952 22,952
—AADSHALE SXAIE XS (0IX)
192, 42024141 193 193
020198 70,640 70,640
—FIINST B2
1,539, 000214} 1,539 1,539
—FIIXSK BSA(OIXH)
13,74024+1 41 14 14
—2AI|H AFDH
19,418, 04021%14! 19,419 9,419
—2ASI|H WD (OIX})
84,5602+ 14! 85 85
— AR (0PF) P 10,511,85021%141 10,512 10,512
—M2EXI(0PF) (01X
47,8502%1 41 48 48
—SyRBCIH L
38,850, 00024141 38,850 38,850
— 2RISR 201K
166,00024+14! 166 166
—ARDYNIAILE HXIAIL KIR(0IX)
6.33021%14! 7 7
O2018HE 1,501 1,501
~HIREX 2SI
1,500, 000214} 1,500 1,500

—HIIRSX ESAFH(0IXL)
10,580& 14!




